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111. "Vegetation grows fastly, continuously and without any problem." This statement applies
to which region?

a) Tenga region

b) Monsoon region

c) Equator line

d) Rainy forest

1. "SS5S 30 &3, foafews w3 89r3rg Gart 3fdet 3" feg g fan 939 3 &g &t -
a) 39r 939

b) H'&HG 839

c) I-Hg It

d) T9ur ==

112. Which among the following indicators is generally used to measure the economic
development of any country?

a) infant death rate

b) describle water attainment

c) women literacy

d) per capita gross national production

112. fopt fed fga3 Hazd w39 3 foA 21 @ widfaa fear § U 88 @93 AR I&-
a) frg V3 ©9

b) TITE War Ut < YUt

c) ferA3dt AHg3T

d) Yf3-fena3t Irmest g3ue

113. Latitude is a point on Earth that is used to measure:
a) distance in kilometres from the equator line

b) distance in angles from the equator line

c) distance from the poles in angles

d) it can't be measured

113. WIHH 133t 3 89 g I fan & fogt &9 fam enirar il Aier I—
a) 3-Ho-ur 3 for & fadfiea Ro gt

b) I-HT-3wr 3 fom & = R gat

o) ug= IR av R gt

d) fer & Hilmir &Jt # Aerer

114. At the time of afternoon, the sun is on the head at 15°S latitude:

a) when day and night are equal (Equinoxes)

b) between 22 December and 21 March

c¢) in the middle of summer (21 June) (Summer Solstice)
d) between 21 June and 23 September
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114. 15°S wIHH 3 TUfIT 28 Had fHa 3 Jer I—
a) A< fea 3 I3 §97=d J= (Equinoxes)

b) 22 ©AET 3 21 HJI & fegdg

c) IIgHT 2 Ho €9 (21 &) (Summer Solstice)

d) 21 g6 3 23 A3 © fegag

115. Least population in the desert. The main cause is:
a) there is a more sandy area

b) the nights are very cold

c) deserts are non-productive

d) there is a lack of water

115. Hges {39 We vl Je T A9 3 e feege fagar I—
a) ff8 g3 e I3 g 3

b) I3t Hg3 St JEmif I

c) H'gE® dig §3ur<t J

d)fgustdiued

116. An aeroplane is going from London to Singapore which goes through Durban. Of the
following ports, where will the aeroplane stay before reaching Singapore?

a) Malta

b) Alexandria

c) Colombo

d) Aden

116. ¥ Ao 3% 3 fHarya 7 fogr I fAAS 335 (Durban) 3 I8 I8 I it Segarar
&5 fan ffq g7 garer I, fHaryg udos 3 ufast, Segarg 3—

a) H'acr

b) Waaa3Im

c) I8

d) W3s

117. Which of the following climatic regions is best for growing citrus fruits?
a) lower part of South Africa

b) middle Western Australia

c) Huang valley (China)

d) Downs of Australia

117. fogt 129 fagdt A8y @8 ¥39 R ¥ @8 A3 3 =uh 69 I&-
a) THE! wigdiar € &8 g1

b) HO U+t wrAeISh

c) IS Wt (T%)

d) WrHSIEM € IG&H (Downs)
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118. Which is most important for the production of tea?

a) cultivated soil and average monthly temperature which is 35°C approximately
b) 150 cm low rainfall and cultivated soil every year

¢) humus soil and 23°C approximately average monthly temperature

d) 300 cm high rainfall and humus soil every year

118. 90 & Jereg 8¢ fot fed fam € A9 3 0 1337 I—
a) QUAE S w3 WH3 HifHT IS  35°C @ BJI8dT I=
b) I3 A 150 AHL. 3 e Hig w3 Gurg fitdh

c) Tt &t T F St w3 23°C T SIS A3 HHT IUHS
d) I3 A 300 A 3 <0 Hig w3 Iat &t =3t fifdt

119. Which natural condition is needed for cultivation of coffee?
a) fog with cloudy sky in pre-morning

b) near about 800 cm rainfall which is divided into whole year
c) average monthly temperature between 21°C and 26°C

d) a cultivated, deep but low humus soil

119. I (coffee) T Aed dereg 3¢ fog' &9 faodt a3 Afust & 83 3—
a) HJ I&63 S8 € &% U

b) 800 At © $3-33 < AB'& TIH 7 YIr A'S foaArg 2t It 9=

c) 21°C W3 26°C = fegs™ W3 HfAd 3UH'S

d) ffs QUAE, Syt ug We &t Tl

120. Which among the following is a sign of output of deposition of river?
a) Alluvial Wing

b) Gartika

c) Sapper

d) Shiprika

120. fogt fod fagz™ dec &t © AHS (fouu) T §3ue I—

a) A83 Uy
b) IIf3ar

d) faufaar

121. In which year a national water policy was made in India?
a) 2002

b) 1987

c) 2007
d) 1985
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121. fos' fed faaz A €9 Iredt 78 a1t 993 &g gevet 98-
a) 2002
b) 1987
c) 2007
d) 1985

122. The main reason of regional variation:
a) per capita income

b) natural resources

¢) industrial development

d) level of organisation

122. 933t 963" ¥8 gu &9 far arge It I—
a) Yf3 fenest wiies

b) Y33 {3Mmiarg

c) Seufdd fear

d) Afgdiags e Jug

123. The following states write in sequence according to 2011 census in literacy in
decreasing sequence:

a) Kerala, Goa, Mizoram, Tripura

b) Kerala, Mizoram, Tripura, Goa

c) Goa, Kerala, Tripura, Mizoram

d) Mizoram, Tripura, Kerala, Goa

123. I5" B3 I+ B FH § 2011 ST I8 HG-ITEa" © WOHAT AHIST ©d © oA &% wice gH
<o fou-

a) I, Imrr, fHaaH, f3uar

b) IS, fHrigH, fFuar, Imr

c) Imr, AT, f3Uar, frdar

d) fimiaH, f3yar, 398, Imr

124. From the following big cities, which city among the following according to 2011 census
recorded has least gender ratio:

a) Chennai

b) Delhi

c) Kolkata

d) Mumbai

124. fogst 23 wigat €9 {903 #fag €9 2011 & As-IreeT ff9 78 3 Wie K9 wigu3 egn di3r
famyr-

a) 9&8r

b) f&St

c) ABIA3"
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d) Hest
It 3" AHSE TA3 IH AS1Q Y Aae J g ad

125. Which aspects did not affect the voting behaviour:
a) Religious

b) Castes

c) High literacy level

d) Size of received property

125. fagt @9 o U 2 Ut © feag § ygries ot sge-
a) oI

b) TSt

c) AHg3T © §9 Utg

d) yu3 THis" T warg
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